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1 1
2 2
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4 4

Client Question

D

Question Body and Alternatives

The in psychology are employed to study various relationships and associations between two variables.
@\ (6 DM & E5 8 &6t L GUIWLITET 2_Mey LMMID QSTLFL&em6TL Limm) Lig LiLig 2 emeduied 6ot
! Experimental methods
G&F TG 6M60T (LLEDIM
éz Differential methods
FLMHAUIW Caumim (B (pemm
3 Case studies
S60NWLITET 3, LL16)| & 6iT
‘:A4 Observation methods
2 MMIGHMTEHSHE (LM
is a study of physical features as an index to traits.
2 L6V 3|6mLOLILN6DT eLH6ULD LIGTITL| 606 86007 LM & 6emev LiMmIw Lilg LiL| S&LD.
! Sanguine
Sflp s &g 6oTetT
‘:A2 Physiogeny

2 U lwssEE QFweLmOSefler CHMmMm aIeTIFSR aUFeuTmI

A3 Physiognomy

2 miliILiemnnG G ulev
4 Physiology
2 L6V HIT6L

demanded that education be adopted to the psychological needs and social nature of the child.

Fevall eTetTLI B GLpHen W6 2_amalliley G5 emal&6T MHMILD Fens @) W6VLIeneT g mIsSEsETaTH M 6TeTmi

ueluMISSS DT,

! Pestalozzi

QUL meugd)
;AZ Herbart
QamFuUIMFL
3 Froebel
LGrmuev
4 Francis Galton
L9y medTerdleny & mevL_edr
Wisdom teeth is developing between the age of years.

SMeLILI6) QIETBHLD LI[HEULDTEOTS QUBLMEISHEHSHS G L Wlev HenLQUMmILD.

fAl 2to4
2 (LPS6v 4
éz 17t0 25
17 (&6 25

53 5to 10

AGLD.
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5 (LPBH6V 10
_A4 10to 15

10 W&ev 15
5 5 The graphical representation of the progress of learning of an individual in a given period is :

@@ GUILULL &Teus 56 &mmeder WeTCarmmid GMILILIGID euemTLiLIL S5 eflamd&Lh Wingi ?

‘:Al Problem - solving curve
FEHNEG GI6 aUeeTCHT(H
2 Learning curve
HMHM6L EUEdTEHT(H
_A3 Pie chart
6Ll euemTLILILLD
_A4 Convex curve

&l auemeTG&IT(h

6 6 The psychology is concerned with construction and use of different test and techniques meant for the human ability is

LI6VGeumI G& Mg emenraserfledt LG LIMG HmID 06eflg Hmener GDLIGSSID 255 &6 @asrrmrr@a‘rm LD6OT
2 _emallLg & & meT &L LenLoliL]

Al Psychometrics

6ot 2_emelwim oerelh
52 Health
HeVLD

3 Sports

eflemerwimi_(H

A4 Experiments

2116 &6t
7 7 Human brains having enactive, iconic and symbolic modes of representation " concept formation by

QFWLI(HBlem6y, 2_([HaUs Blenev InMMILD GMIUTL (B CLITETM 660608 6M 6T 60 LIS D601 eLOED 6T WLITEOTS
SLGLD 6TEOTM HHSHENS 2 (HEUTERWIEUT :

! Piaget

Hwresg

fAz Pavlov

LImeu@evrmey
53 Bruner
Liemeot iy
64 Thorndike
STIeTemL &
8 8 Which of the following statements are true about classical conditioning ?
(i) If the CS is too strong, there may be no conditioning.
(ii) Backward Conditioning is mostly unsuccessful. Here the UCS is presented prior to CS.
(iii) If CS is followed by UCS, it means there is no reinforcement.
LILDEMLD Q&8 BlemeMIS S S5 s Libhmw Lereud eumsS whkiserfley sreme &iflwimereney ?
(i) Blemeuw IS SLILIL L SMeooTL 6V L& 6uedemIDWITg: @) (H&@GWDELITS 2EIE BléneulmigSEHL0D
@ 6LeLIMLDEY (&S 6UITLD
(i) LNDHCUITE @ Blemev | migGLD eT6dTLIG QLIHLOLIMeLD QleummluienL el evemey. @ M@ BlemeMISSLILLITS
STE00TL6V BlemeVWMISSLILIL L ST6ooTL a8 G (WeiT 36l ILG R eTm s
(iii) BlEMEVUMISSLILIL L STOTTL606VE QST HS! BlemeumGSSLILILITS ST 6V @) [HGS0DCLTS @&l
ageLl L flereminenis GMl&ERma!

! (i) only
(i) LD
A2 (i) and (ii) only
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(i) LDMHMILD (ii) WL GID
:A3 (i) and (i) only
(i) LD MILD (iii) LD HILD
:A“ (ii) and (i) only
(i) LoMMILD (iii) LG LD
9 9 The criticism, admiration etc., are the chief factor of the kind of motivation.

aflngaeorid, elwbg LTI (HS6V, LDMHMENEIGET 6THS 6Uend 2618 H U 60T (NS ETEMLD & TT6u0l&HeTm@GLD ?
fM Internal Motivation
2 6T 2618 H) &6l
2 Cognitive Motivation
SIN6 &M 2618 & & 6T
63 Social Motivation
FOSTW 26185 & 6iT

64 External Motivation

Qeuerfl 2618 %) & 6T

10 10 Situations in which children feel that they have been deprived of material possession' is representative of emotional aspect.
s Fleud GLpleneusefle) GLohenS ST QUITGHETEFTT @)6V6VTenLD &6eNMLITL LY 6N60T 2 600T[F&HSILD
LDETQEUWEFR BlemeLWIMEGLD.
fM Nepotism
asflws wsre)

A2
.~ Reassurance

LS6T 2 mISILT®H
;A3 Embarrassment
FRIGLLOITET [Bl6M6y
jA4 Jealousy
QUITMITEmLO
11 1 "Adolescence is a period of storm and strain" is quoted by

"GLWTLLHEULDTETS 6T H(WSHSLD LOMHMID QBHEHSHL SHLD" 6T60T &L 198 SMLIQW6UT] :

'AI Tolman's

BLM6LGILD6ITEN
.A2 Eysenck
B &FMm
3 Strong
VLTI
4 Stanley Hall
VG LeTedlameu
12 12 Intellectual potential is developed in a child by :

20 GLHosUilar SirlalFm) Eimenin @SaTTe GG DS :

:A ! Nature

@uihens
'AZ Education
Hevall

Birth

A3
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iy
4 Maturity and Experiences
WHTFF DHMILD 2| 6DILIGIMBIG 6T
13 13 Which is essential provision for the balanced emotional development of the children ?
SL0HE0 S & 60T T 6 (WEFS GbUM(h FoBlaneauiley @ e G auTeT LT 6Tg! ?

?M Curricular Activities

HOVSGTH L QFWLITH &6
.AZ Indoor game Activites

2 _drenymi@ efleneTwim () Q&FwWeLITH &6T
53 Co-curricular Activities

LML @ ememord Q& WeuLIm(B &6t
54 Out of Activities

Qauefllwrmbig Q&FweLIm(H 86T

is a direct method of adjustment.
eTebTLIS! GBI WITeT &Fifl QF UG (LMWMELD.

,Al Identification
ML WIT6TLD
.A2 Submissiveness
2196001560
_AS Regression
LN\ eoTe0Tem L6

A4 Compensation

QLINACY
The ability to draw conclusions on the basis of specific instances is known as factor.

GSOIUULL Blaspailer ogliuenLuwiley 1g.6|&emeT 6T(h &0 Hmeor SITT60ol I WIMGLD.

fA ! Deductive Reasoning

UELUUMTLe| 4T TUSSHISH60
52 Problem solving ability
Np&Fgenears:@ Se) & memiin G meor

3 Perceptual

LeveiTs ML &
54 Inductive reasoning
QBTELUMIG| QTTUHSM &6

method is used to find out desires, anxieties and aspirations of a person.

SLENF 6T, LIGMHMMBIGET LDMHMILD SeUT&HSHET @ elmenm e L06vf1g 60 L8 [HH & &evor Ml LiWeTLGILD (Lpemm

SGD.
fM Introspective
215 CBMT&HH6V
62 Psychoanalytical
2 emefluliey LGLULIMUIeY
53 Performance
Bl&D S SIS

64 Situation
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The growth of a person's intelligence reaches its maximum between :
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625 BLI60T HleooTevormley 66T IEG WMl QLU0 LS LIemL LD U Sl @ emLGeler] :

Al
A2
A3

A4

Age of 20 - 25 years
20 - 25 QUW BI& & 6T
Age of 30 - 40 years
30 - 40 QUWI BIG G 6T
Age of 16 - 20 years
16 - 20 QUWI S8 & 6T
Age of 50 - 60 years

50 - 60 GUWISISH G 6T

Series completion problems in competitive examination comes under :

GUIMLI9E CaTey&afle U erm 6resor auiflens LTSS Q& WIUWYLD 560018 & & 6T @) &60T HBLD aUBLD :

Al
A2
A3

A4

Inductive reasoning
QFHTG&SSHSHM &TFevorLo S0
Deductive reasoning

LUGSHSM STeuorLonsen

Conditioned reasoning

S,EHBlEMWMISSLILIL L SITFeorLomg560

Categorical reasoning

AUM&LILMSSLILIL L &ITFernn&ev

According to Erikson's Psycho social development, the stage of identity and role confusion occurs from

erifl&6rv6uf1 60T FeLp s eueTTESR GoHTLLIMLIQ60TLIL. &{6MLITETLD &ITamIgeV LoMMmID LIMIG @&WLLUIULD Blensy

Al
A2
A3

A4

gohu@ILD.
6 - 12 Years
6-12 21,6001 (H H 6T
12 - 20 Years
12-20 oy,600T(H & 6T
20 - 45 Years
20-45 21,6007 (H & 6T
45 - 65 Years

45-65 91,600T(H &6

Theory of generalization is similar to the theory of
QUMEIWLLILIGIS SISV CHITLLIMMH 6Tedr LIS

Al

A2

A3

A4

Transposition
BlemeulnmmmLDd

Identical Elements
MUIQUTHS Fo MG 6T
Association

Gl (h& &y
Discrimination

CoumiumL(®

Cognitive Learning is achieved by

M6 &FMT SHMEVTETS!

CaHTLUML(HL6IT 625 SI6TemSI.

e6VLD Sjem L WLILI(HLD.
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fM Physical Processes

2 L6V QFWMLIMMEIG ST
.AZ Social Processes

FEPS G&F WIMLIMTMIGS6T
53 Mental Processes

LD6OT QI &F WIMDLIMTHEIG & 6T

_A4 Emotional Processes

LOGTQ6U(LDEF Q& Wi (HLIITIHIE & 6iT

Autocratic leadership is also known as leadership.
JCHEFF ARGMTT HOVMDGSIUSH MG ETEOTM LDMIQLIWIT 2_600T(h.
'Al Democratic

QEOTIHTWSLD

‘62 Laissez-faire
Qeververd — QI
'AB Authoritation
AP ETIS SN
54 Sociometric

Feng erei(®
The other name of heredity is
OIS LHGOT®H QUWIF

fM Nature

@uihens

fAz Nurture
QFWMHens
53 Development
(eTGaTMmMLD
54 Growth
QUeTIER
Psychological principles are used to formulating

W QU aIMDLILIGH6 2 aTellWVEFTT Q& TaTen & & 6T LI 60T LI(H 6 60T meor.
fM Journal
LSS & s
.AZ Book
USS&D
_A3 Curriculum
HMOVSHILLLD
A4

Magazine

aswp
Six and seven years old children have the following attention deficiency.
2L,m1 DHOILD LD QWS GLPHNGSHET LD BLD&H6E00TL &6 GenmUTH @ BHRMSI :
"Al Production deficiency
5 GOMUTH

‘62 Control deficiency
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QWSS GmUTH
;A3 Utilization deficiency
Lwetuml(® gemmum®
54 Effective strategy use
FmeT 2_5S LiweTUT®
26 26 The Unconditional Response and Conditional Response are different in :
BlemeuWMIGSLILILL Sl6VMHI&H6) MHMID BleneumIGSSLUILILITSE SI6UHIGH6 @ TaTh LD G euelCeumnd: @ILILIS :
'AI Classical Conditioning
LIGOLPEDLD 24,58 [B60)6VW| 0I5 560
:A2 Operant Conditioning
SHNFTT 2,58 Ble06VU MG 560
_A3 Trial and Error Learning
weTe) el &hmev
;A4 Learning by Insight
SIHHHTLH aulfls HHmev
27 27 Dissonance - reduction theory is an example for :
196V B6rVmenT6aTeN — [f1L_& & 6dT (Dissonance - reduction) 6&) 6T60TLISI @S &S R(H 2_STFeUOTLD :

‘,Al Interest formation
SyTeus L Lemoliy
:A2 Memory formation
Blenarayé &L LenLoliL

Attitude formation

A3

LDEOTLILITEOTEmLD &L L 6mLOLIL]
?A4 Aptitude formation
BTLLE &L LemOLIL]
28 28 The span of age during the growing children expected to perform a certain type of developmental task are termed as

GLLHEN S HETI60T QUETIER &IM6V & H) avl6Tem Fleveland aUETIFFRFTT Q& W& 6T QelefliL(BHS Gr@lj@[rgrrass,as
FalqWl &Mev 6fFa GOILLILLILGeag

_Al Golden period
QUITM&MEVLD
2 Critical ages
FEHH UG
A3 period of the life
aumpeiledr &meulh
jA4 Both Critical ages and Period of the life
FEHH WG LDHMILD 6UTLHeN6T &Teuld ) Fesor(H LD
29 29 The first reaction of mind towards an external stimulus is :

Q6u6rfl S SHITEToTL_6vIL_60T 2_6IT5 ) 60T (LN G6V elem6nT :
_Al Attention
&6160TLD
2 Interest
N ITh
3 Sensation

2 T I &G
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30

31

32

33

34

A4 Perception

6007 (B 600T [T 6
Origins of child maltreatment became a topic of research in early :
Sphengsafler QEMILImLe LMW U6 QML BISLILIL L o,600T6H
Al 1960
1960
A2 1949
1940
A3 1950
1950
A4 1990
1990
sl euemiFRNS siemmuilesr Lfla QUM "Q& TN ILIMe 6" Bredlesr QL@ Flwiy Wy ?

fM TTEILOTIT& & MU0t L 63T

&GIsm
A3

QU meoof & Me 601

A4 . .
. & 600T600T S TG 60T

&LILIGV eTETEnILD QUITIH6T SH(HLD Q&F 6L

Al .
7 aubIgm LD

: 2 S|paULD
A apeud
Ad

GUMIGLD

LjemeoTwm ep@fWILD LMD GLITTIH S 60T6nT. ..
@66 @)L DG LIMHMIGTET H6 :

_Al FeILUGH&TTLD
A2

aemeTWImUS)

53 060l GO & 6m6v

:A4 FelsG B Lo evor
LNmJ BeiTenLng &BS) FL0&HEG HEhenFs Q& THSHSTAILD 15 660T 2_600TemID LIGTTLITET :

{“ B a0 GeuerG LT
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A2 T SIwWHoILIeTF

A oflefeuns iy

A4 . .
. &600T Q600N LTS 6T

35|35 @ BH& QeUTeTEMIT, &HH & QeUTeTGmIT

U@ el UG &! @LILSLD QeullCeumesT SeamneuGL!
@UUITL6V aufl&eT @L LD QUM HiTev :

Al oisprsnm

A2 .
. Bholemesor

A3
7 UDBTDTY

_A4 uflumeey

36 36 "BF&SIenm LIQU|D QUG mBISer o GLmev" 6TedTm euifl 6T LO6oTerTem 60Tl LimMIuig! ?

AL L

:Az atcvailev erfl

A3 Gug 6T

54 2HWLDmedT

37|37 M& (LD — @ FQ&FMEV606L @)L LD QLIMILD @608 56008 GMILIL :

.AI NemeTH O BTt &
52 2 QIS O ST
A3

LI600T L Q& Tt &

A4 . . . R . . .
. QETMITLD GCoummiemId 2 (HL|LD LIWISHILD 2 L 60T QFHMTEHSEH C&Te0ndH

38 |38 'QeUBS MM Q\LIM6oT601 60T B LLLILI' 6T60TM @) LILITL 6060 2{6MLOHSBIET6T LIGLOLD :

,Al 2 (BLI LIgLOLD

52 aflemenrLl LIgLOLD
A3

QLI LoD

A4 . .
. LIuJedr LG Lo
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39|39 FaHmi -1 : 56560 LlLITMeT QeVLIETTET BTL ML & CFJHS eeailwiy.

Fahm 2 “BIess e earabd QumEQuuwiiliL Bredler P flwy sellwiys:.

Al . .
. Eabho-1 e, S ho-2 &1

A2 . 5
. eabo-1 Fl, Q-2 Heum

A3 5 .
. SOl D), FaDD-2 HeUm

M g1 &), Empmi-2 &1

40|40 LDBIEIHED ST WSNsHL LIS W ?

fM [IREISIR:

fAz 2 Geal.Fm

j“ & .60.5.

A4 .
7 LDEMLDENEULILY & 6T

41 |41 CQIBIT 6TEOTERILD TS S ROTWSS! e QMSWITS auBLL CUIMS! SHBLD QUIMIHET :

Al

SledTULD

A2 QIMIEnLN

A3 o
. ety

:A4 QBT

4z |42 B LD & 556007 L_6) (D M6 WIMem 60TemWIL] LITSH JLOME 606l Sl 61L& LILIL L HTeL

Al . .
. eflegemiyyib

Al

2 Q&MHMEna

3 .
eUITIQeUMTEF6V

A4 L
. D§S&LD

43 |43 el STymUTFSHuNer @uim@ Ly

AI ST, GITLOITTE 60T

:Az &HTSH GLL TSP eTLD
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,A3 ReoreoraFmLdl
jM @ ITSIT &) ([H61q 600T60T

44 |44 Foulbl &LSE) CHTeTemL CLOMGSHTETEHLD WMHSH Wy 2

Al . .
. BhoTd

A

2 56016061 6011 60T ST

63 QFallefg s Ml

M egma

45 |45 STLHILD &[0T 2 6mL WG — 6Teoflailh

8600760011 LI 6UITLDEDIG 2 6L WLIGUITITLD
AUMLBLD 2R auBHH Heury — QHS
IO ANWITS e emFWIT !

—6T60TM LIML6V19.8@& 2_iflwieur :

él @ TSI MBI 6T

A2 L
T Ussy

:A3 C5F & BTUIGHETTT

:A4 @ ITeIHIS 9|1q&6T

46 |46 Gamiflw &M 6T &Hmeauuileh 6U6LEEITSHET ?

A

1 .
7 @egFs semen

2 .
LITL6V &6D6V

,A3 3L 6 HE0I6L

:A4 CUIMT& Hemr6y
AT QsHTEBE W "Fens: ETHBSSSD T SHang" W ?
A ghans Quflwmg
A

. 2 2|600TE00TEV | LDCLIG ST

:A3 LslIemw LN g5 6o

M siumsSsnes

48 48
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BTl 6ot Hieofl GLO6L CHITEHES euemeTH S eU(H(H UGBS C&HMETMID 6T
Al
.U
A2
A3

A4

49 |49 “LIesoTen LW 2 _6THITL B 6uetnilsgHev Qpevald 2 LD G G LIL|60) L ULIET6U TS @) IHS 60T

—6T6TM QUEtt &8 GMILILE QF LIS eSS FaMll Fhig G 6ev&HH U BT 6Tgi ?
' sispronm

A2
L7 UpBTEnD

A3 .
: 15D ) 65 60T

fM uflumeey

50 150 2 QI 2. QUhS! FnID

2 QU @rell @SSMY — Wy, Wy ?

Al LMW, @IoesTt

52 @)\ T ITLOGIT, (&8 60T

53 @ TITLO60T, &8 [feueoT
A @umoer, gl

51 |5t SSLDEDT TEIT QEMEIEN6V (LNSET (NG 696D 6T(D S G TeToTL. @)V &: G WILD

! qal(bhs QBT
52 ugssIl urt®
A3

IUUT GHaUMTLD

,A4 1060011 GLD & 6M6V

52 |Is2 ShIS6T, @BTuilm), LML 6TeT G WHENSENL QTS SIUS TS QSTLEIGLD BT :

fM L0600 LD & 6076V

fAz FeILGH &HTTLD
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53 QIE6TWITLIS)

:A4 S6TLVCHS

53|53 @eumnlev eTemer QSMEHALWT el GH ST RemLWmg ?

Al .
L el @, &
A2

66U, 36V, &

A o, B, o

A4

. &.U.ey

54 54 " . . . . . P . . .
ST e QLG WETL QUIIUD" — UML6VLg. LU 60Tl eu(BHLD HT6L 615 ?

fM FelILGH&HTTLD

) ([HLOEMEV (LD (IHS:60T LIGTEH

A2

A3 .
. BOHESTOS

:A4 QBB BEVEUTEL

55 55 5

ClumEEHIS:

(1) 6TELEUI 2Ylp B (ETHLD (i) Sipo oetmigen
Erdste e Aflwtiur
mBemLGlLmomuilesr

(2) "ph P opsss (i) Cpflos apffluour
SHADLS([B UTSSE
SEaUs0”

(3) “BlemLuen Gssrilett’  (jii) Blemsy Ln6TTIgEV

g Afwiur

(4) "senL SjwupuTSh” (iv) @)emewers (G meiT

S Aflwium

AL 1), @), GG, (4)-Gi)
A2 (i), @), (-G, @i
A3 i), @)-iv), G-, (@)-Gi)
A G, @), B-v), ()il

56 |156 LB 5 @555 M6 allenL&em6Ts G576 Q& s, "6UeuiNg.en WD GUEEGLWD ; QUL SLILIMEVU|LD &THIEGLWD"

Al giby

A2
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A3 .
. Qsp

A4
AT
ST |57 ‘BSOS HellEhI* 6T6TLIS 6T §)6V8:&H60uTs: GMILIL] :
Al . . .
: aNWImIGameT 6l emeuT(LommI
A2

LIeooTL| & Q& Ten s

:AB QBEUAWATTLGLI LTS Q5 MTens

.A4 NemeTH O BTt &
58 (58

"F&meugmestl" eTedtoy LIMFTL (B QU :

jM GEMO&BST LIMTTHUWITH

éz QF WG SO Umeueuly
A

: 3 SN (PSS L|6veury

A4 2 InmI Leveury

59 |Is9 BIL LT 6dLIL| (EnMEni 2 enL W 6TWDSHS! 618! ?

j“ 2 WarWwss

fu SIS WSS
:A3 QUUIAWWSSI
:A4 QLIRS SI

60 |60 BBSTD 2 0855 SN TBIE BLBS 2617 615! ?

Al P
. CamwLSSTT

A2 gy
53 GgFeuld

A Qs

61 61 The process by which data are presented in a non-verbal form is called



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

Al Encoding

2 Decoding
3 Idioms

54 Notice

62 62 Choose the right pattern of the sentence given below:-
T gave him a pen yesterday.

Al svoc

AZ SVIODOA

A3 Asva

A% syea

63 63 is an example of zero plural word.

Al . .
T ivies

fAz sheep

A3
. geese

A4 .
. cacti

64 64 Choose the correct conjunction from the options given.
He saw a tiger he ran away.

M yet

62 and so

A3
. oor
A4

still

65 65 Give the correct meaning for the underlined word.
Monsoon clouds began to gather, darkening the upper sky and softening the light falling on the austere scene.

! Simple and refined
A2

Stormy

3 Peaceful
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_A4 Suddenly
66 66 Choose the right pattern for the following sentence.
"She gave money to the poor".
Al syporo
A2 svi0DO
A3 gvoa
A% svoc
67 67 .
Match the following
(a) Bully (i) sad and depressed
(b) empathy (i) make others feel ashamed
(c) dejected (iii) teasing others
(d) humiliate (iv) understand other’s feelings
AL @-(iv), o)), (@G (@)-(0)
A2 @), O)-v). ()i, (d)Gi)
A3 (@i, (0)-(). (-G, (@)-(iv)
A% @), ()-iv). (@), (d)Gi)
68 68 Fill in the blank with suitable article.
India is largest democracy in the world
‘_Al the
A2
. a
A3
. an
zero article
69 |69

Where does Shree's Amma work ?

! Supermarket
52 Jewellery Shop
A3

Textile Shop

4 Fruit Stall
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70

71

72

73

74

70

71

72

73

74

What is the meaning of the word 'gaped' ?

‘_Al Stared

2 A space between two objects

fA3 Glanced

fA4 Took pleasure in the taste

Choose the exact homophone from the given option.
The sugar had a negative on the science experiment.

'AI effect

52 affect

_A3 affact

54 efect

Muhammad Ali was an boxer.

fM American

52 Indonesian

53 Indian

fA4 Ttalian

Means to endow a non-human character with human character with human traits and behaviour.

fM Metaphor

52 Anthropomorphism

A3
.~ Consonance

A4 Anaphora

Choose the appropriate linkers and fill up the blank :
1 got up early, I managed to reach school on time.

Al g

A2 While

A3 As

GET IT ON

Google Play
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4
unless

7575 Write the correct Conjunction for the given Sentence.

"Raj will succeed he works hard".

Al Although

AZ g

fA3 Unless

54 After

76 76 Choose the correct modal verb.

You stop when the traffic lights turn red.
Al

can

A2
. must

A3

might

A4 i

7 In which of the following figure of speech, an inanimate object is given human qualities and abilities.

,Al Metaphor

éz Transferred Epithet

A3
. Imagery

4 . .
Personification

78 78 Pick out a suitable prefix from the given options 'Manage'.

fM Un-

A2 i

A3 .
.7 mis-

‘,A4 de-
79 79

A Written or Printed announcement is known as a

! Notice
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Notes

3 Summary

64 Letter

80 180 Find the odd one of the following sentences.

! Jumping is fun
fAz I have an idea to offer
A3

The wrecked boat washed upon shore

_A4 We could read well

81 81 Choose the correct penta syllabic word.
1. .
inferiority
2 initiative

A3 intelligent

4 identification

82 82 Write the correct conditional clause

If you had studied well, you have failed in the exam.

fM Would not

A2 Will not

"AB Would

A% Shall not

83 83 Rampaging through the heavens never stopping day or night!
Which word could you replace 'rampaging with' ?

1 Going through
A2

Getting through

53 Taking through

A4 Looking through
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84 84 Choose the correct preposition for the following sentence :

We shall meet them the club this evening.

Al .

A2 at

A3
. on

A4
. over

85 185 "One infant grows up and becomes a jockey,

Another plays basketball or hockey,

This one the prize ring hates to enter

That one becomes a tackle or center,"

Find out the rhyme scheme of the poetic lines given above.

‘_Al abab

52 abed
A3

aabb

fA4 acda

86 86 Rewrite the following in indirect form.
Sita said, "We watched a film yesterday".

Al

Sita said that they have watched a film the day before

..AZ Sita said that they had watched a film the day before

3 Sita said that they had watched a film yesterday
4 Sita said that they have been watched a film the day before
87 87 William Shakespeare was
fM a poet and a playwright
2 an actor
3 a Scientist
54

a Philosopher

88 88 Pick out the odd one out for the word "Ample" :

Al Great
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89

90

91

92

89

90

91

92

52 Generous

A3 Plentiful

‘.A4 Restricted

"Speak gently! - It is better far.

To rule by love, than fear.

Speak gently - let not harsh words mar.

The good we might do here!"

Pick out the correct rhyme scheme of the above the poetic lines.

fM aabb

A2 ibba

53 aaab

54 abab

The origin of the word 'chutney' is

‘_Al Tamil

A2 Urdu

A3 Hindi

"A4 Malayalam

Find the principal if the difference between C.I and S.I. on it at 5% p.a for 3 years is Rs. 244.
5% S,600T(H eUL_19 U6, 3 ET(H&HEHSHES H ML &GLD Tl () 6L 196D Heofl Ul 19.86EGWD @) 6L Guiu]eTer
ANGSHWIMTEFLD Rs. 244 61601160, S| F6MEVE G>TE00TS.

Al Rs. 97600
Rs. 97600
A2 Rs. 1860
Rs. 1860
A3 Rs. 16000
Rs. 16000
A% R 32000

Rs. 32000

The relation among Mean, Median and Mode is :

Frn&f], @enLBlane, (WaHMH @) aI&HEBSHEG @)L GU 2 66T QGTLIL] :

_Al Mean = 3 Mode - 2 Median
gyneil =3 Wa® -2 @ L Bleney
52 Mode = 2 Median -3 Mean

WaO =2 @eLBlene -3 Frmaifl

GET IT ON

Google Play
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f“ Mode = 3 Median -2 Mean
WO =3 @aLBlene -2 &ynaifl
‘:/\4 Median = 3 Mean -2 Mode
@enLplene =3 &rnaifl -2 WeEG

93 93 Siva deposited 'x' number of Rs. 500 notes, 'y' number of Rs. 200 notes and 'z' number of Rs. 100 in the bank and Ram deposited the twice as

Siva. How much amount did Ram deposit in the bank ?

62(1b UBIGHUN6L FlaUIT 6TETLIOUT 'x' 6T600T6001 185608 U6 500 €h. HITETEEBLD 'y' 6TeuoT6ur18:6m8 U6V 200 €1h. M6 EBLD,

'7' 616006001 185601 U6V 100 €. HTeTHEBLD (LPG6SH QFWISTH. GLgILD TTLD eredTLIONT FleuT erarLiouem T el @)

DL MBI WHSH QFWISTT 6Teoflel Sjeuaum&Euiley Peur ng5eSH QFUIS QF TN 6TalI6TE|?

AL 500x+200y+1007
500x+200y+100z
A2 500x+400y-+2002
500x+400y+200z
A3 1000x+400y+2002
1000x+400y+200z
A% s yt10z
Sx+2y+10z

94 94
What is the perimeter of the following figure.

7cm

28cm

7cm
28 em

FEDESHERTL ULESEI6T SHMMmeTe SIS
7 Qg1

28 Qg8

7 Qaaf
28 Quaf

_Al 70 cm

70 QF LS
52 63 cm

63 Q&F.18
A3 108 cm
108 Q&.L5
_A4 112 cm

112 Q&8

95 95 The mean of a data is the double the mean of the other and standard deviation of the first data is half the standard deviation of the second data
then the co-efficient of variation of the first data is of the co-efficient of variation of the other.

@ alleighsafer Fymer] nHAmT®H alleuyhisefler Fymeflenwils GLIMe @) DL MBISGTE LD, (&)
aflaurmigerfler S Lelleudasb nHAmm allaurmkigerflear S LelevsassE e LITHWMSHeD @ mLUILN6T, (6w
afleuymiigerflet LmmILITL (H& Q& (WD6UTeTSl @) TevorLmeugl eNleurmigefler mmILTL (& Q& wWealll GLIma

! four times
BIT60T(& LOL MBI ME&LD

2 one fourth times
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BITET &6V 62(H LIMIGTESLD
;A3 two times
@ Jevor(h LOLMBISTGSLD
;A4 half

UmHWmGLD

96 96 Two angles are in the ratio 4 : 5. If they are supplementary, then the angles are .
@ evor(h G&sMevor MG 66T NGRS 4 : 5 GLOAVILD @66l @ Tevor(HID L& BITLIL| G85T6uoT MhIG 6T 6T60T160
B &5 60T M1 & 611 60T LG LU1L|

‘.Al 100°, 80°
100°, 80°
{\2 80°, 100°
80°, 100°
‘.A3 108°, 72°
108°, 72
A% 550 1080
72°,108°
97 97 If "x is reduced by 10" is the verbal statement, then the Algebraic statement is :

'x @69 BHSI 10- B8 GMME SV ' 6T6dTLIG UMl QTG FaMMTE @) HHS TV, 3160 @) UM 6E o HmTers! ?

fM (x-1)-10
x-1)-10
A2 xi1)-10
(x+1)—10
A3 x-10
x-10
Ad  x
0
X
10
98 98 Kumar buys an LED TV which has a 41 inches screen. If its height is 9 inches the width of the screen is :

GLDMT eTTLAT 41 SIMIG6VLID HemT QG M60oTL ([ 6T6V.@).19., QS Te06VEHESTL Flem W 6UMTHIGRMTT. 25 60T
2 WD 9 SMIG6VLD 6T6vflel HemTUI6IT & 6VLD LTSI

Al 4o

40

Az 3

32

A3 36
36
Ad 3
30
9 199 Kini(t]})ika and Mithran can do a piece of work in 32 days and Kiruthika alone can do it in 96 days. How long will Mithran take to complete the
WOrK 7/
RBSH ST LOHMID LOGTT S W G BB )T hl e (H Gauemeveniu 32 L gerfley (I LILIT. D(BSH &M
Hel1CW b5 Calemeuemill 96 BITL&erflev (LY LILITI 6Tevf16v, L& T6T 2i5% CeUenauemLl 6185 6m6T HITL_Gerflev
wWIgumy ?
AI 48 days
48 BTL &6t

AZ 64 days

64 IBITL_&56T
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100

101

102

103

100

101

102

103

fA3 24 days

24 BITL&6T
54 72 days
72 BITL&6T

Vertices of a triangle are (x, X), (5, 6), (5, -2) and area is 32 sq. units find value of x ?
(x. %), (5, 6), (5, -2) 6TEOTM L 6T6r 18561 (LN & B MeuoTHH 60T 2 FF\ & 6T Lo mIld G eumnfledT LIFLIL] 32 &.9) 6T6vT160 x 60T
LOGLIL| & IT600TSs :

'AI 12 Units

12 SV& 56T
:A2 13 Units

13 SV 6T
_A3 14 Units

14 SIS 6T
54 15 Units

15 S|V & S 6T

Which of the following is correct ?

61g FiflimeoTemen ?

Al
. The sum of three angles in a triangle is 180°

(D& B55TE0TS B 60T eLNEOTMI G5 T6U0T 6185611 60T o (D) BH6V 180°
A2
. The exterior angles of a triangle add up to 180°

(D&CE TS H) 60T 661611 8 G & 60T 1 & 611 60T Fon (DB 6V 180°

_A3 If two angles are different, then they are congruent

@) T6uoT(h) B85 T600T M1 & 611 60T B85 T6UIT 2|66 GH6T GeUMI 21616 & 6IT 6T6vf 16V FTeUEFL0d G T600T &6 2@ LD.
?A4 The sum of the two angles in a triangle is 180°
WP E&CBHTE0TS H) 60T &) 7600T(H) GG T6v0T M1 &5 61T160T o (5 FH6V 180°
What is the distance of the point (-3, -6) from x axis ?

(-3, -6) er60Tm LyaTerfl x 2FFeNBHS! 6TeLEUETE| STTSH6V S|emLOW|LD.

{“ -6 units

-6 3|V& S 6T
AZ -3 units
-3 SIVG ST
3 3 units
3 VG H6T
4 6 units
6 S|VGH6ET
The arithmetic mean of 8 values is 22 and if each value is increased by 2, then find the arithmetic mean of new set of values.

8 BreyGseaflear #rmaif] 22, REUQAUTH SJ6L 6T 2 B8 Fnl Q6T T ReML &G FITaflenuiss &Ters :

Al
22
AZ 54
24
A3 96
26

A4 g8
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104

105

106

107

104

105

106

107

28

What length of ladder is needed to reach a height of 12 ft along the wall when the base of the ladder is 5 ft from the wall ?
(6 &euifler U BH B! 5 2119 QG TeeVaN6) 2_6TerT getollWmena &eulfler 2 FFemw 12 91 2 WTSH 60
QBMHILD eT60fl6L, grevoiludledr [Bemdeme & Meuoras

Al 15 q

15 9|9
A2 34

13 i1g
A3 g
12 2419
A

11 241

1f 21 +2m*1= 640, then m is :

2m-1omtl =640 erenflev, m- 60T LOFLIL] :

Al
A2
A3

A4

Find the height of the parallelogram whose base is 3 times the height and whose area is 507 sq.cm.
507 &. Q&5 LFLILeTey Q& meooTL 621 @)6M600TS &S 60T 2_WITLD SS60T 1L LISE 5 60T 360 62(1H LIMKIE 61601160
IS 60T 2_WITLD &HITE00TS.

‘,Al 11 cm

11 Q&5
Az 12 cm
12Q&.18

53 13 cm

13 Q&.18

‘_A4 14 cm

140818
Rishi can walk 3% km in an hour. How much distance will he coverin 8 hours €

fof @@ el BETESI 35 8.5 pLES (gL QusTDTE, Sieud 8 e
CBEISS6 TaaIsTa EMTSSE SLIUTT ?

Al 18 Km

18 &).15
T
30 &).15
A3 56 Km
26 &).18
A4

GET IT ON

Google Play
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15
— km
32
108 108 Use Ceaser Cipher table set +3, what will be the secret code for the sentence '1 LOVE MATHEMATICS' ?
o wam&GMIUI®H +3 9L LalenetT QSTGLIamLL LWeTUGSS), ' | LOVE MATHEMATICS' 6T60TM 6 1T8: &R LS S 6ot
@UasFw GMIui® eretreoreum@Ln 2

fM E HKRA IWPDAIWPEYO
E HKRA IWPDAIWPEYO

..AZ R OLEV NZGSVNZGRXH

R OLEV NZGSVNZGRXH
A3
.~ FILSB JXQEBJXQFZP
FILSB JXQEBJXQFZP
64 L ORYH PDWKHPDWLFV
L ORYH PDWKHPDWLFV

109 109
If 31506624 =+/x=3100 the value of x s :

1906624 <% =3100 aresflsh x-siT 1L,

Al 65
625
A2 652
652

A3 635

635
A% 64
624

110 110 In a distribution, the median and mode are 60 and 90 respectively, then calculate the mean.

6(H LITeUedleT @ 6mLBlemey I|6mey LoMMID L&D (WLenmEW 60 LbMMILD 90 eTevflev, FFma ] &mesorss :

Al 100
100
AZ gy
90

A 50
50
A g
45

i The perimeters of two similar triangles ABC and PQR are respectively 36 cm and 24 cm if PQ = 10 cm find AB.
@) UM S (P& CETETHIG6T ABC LDMHMID PQR- @) 60T & MMET6 6T (LenmGUl 36 Q& .1 LoMMILD 24 Q& .15, PQ
=10 Q&.16 6T60f160 AB 60T LOSLIL| S T6TOTS :

_Al 10 cm

10 Q&S
fAz 15 cm
15 Q&S

53 8 cm

8 QFLS
A4 12cm
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112

113

114

115

116

e

112

113

114

115

116

12 Q&S

The income of a person is increased by 25% and then decreased by 20%. Find the change in his income.
62 BT eUBLOMeTid 25% SH&FHE& UG LIME 20% GnmeasLILGERMS! 61601160 361 [HemLLL
QUBLOTEITSH 6V FHUIHID LOMMHMLD :

! 5% increased

5% 215 &fl& G0
2 No change
LOTMHMLD FSILD §)6V6m6V
243 5% decreased
5% @emMU|LD
{M 45% increased
45% 919 &f&GLD

Which of the following is the amicable numbers ?
GO QBMHGHSLILIL L 6T600TS 61160 6Tem6) @) 600TE: & L0 TET 6T600T&H 6T :

Al 9618, 2920

2618, 2920

A2 9168,2290
2168, 2290
A3 2618,2924
2618, 2924
A4 2620, 2924

2620, 2924

Find value of x : 22%°1 = 83%,
X-60T LOBLIL| & ITevor ; 22%-1=g3x

The best shopping choice is to :

FHS WU QUITIHL GHEM6T 6UITMEIESH6V 6T60TLIS :
fM Shop at brand name stores always buy

TLIGUIMGID MBS QUWIT QUMM SIS MIY.856l60 QILITIHL_ 8606 61ITE 560
‘62 Compare the choices before buying

QUM GEUSMHS (6T Flov S MIGTIY &6 QUTBL &6 LILI(HIS560
53 The same thing my friends bought

6TGUTS! [5600T LT85 6iT 6UITMHIS W QILIT(H6TE: 606 GLIM6Y 6MITHIEH 860
_A4 By at a regular shop always

STLIGLIMSILD GUMTRIGLD 62(H 61L& & LDITET &HemLUN6) QLIT(HL 5606 6UITIEIE S5 60

The probability of an event is 1, then itisa:
20 Bl&HEFIUNGT BlELss56)] | el 918 @ :

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

fM Impossible event

BL &5 @) W6 Bl&LhES
52 Sure event
2 _mIFwimeor Bl&LDESF
fAB Not sure event

2 DBWHD Bl&EpER
_A4 Infinite event

VYYD BleHEs

77 A flag pole 15 m high casts a shadow of 3 m at 10 a.m. The shadow cast by a building at the same time is 18.6 m. The height of the building is

15 1S 2 WINETeT (b Q& M8 SLDLILDITETSI S&Met6ey 10 6tol& @, 3 LS BemneTeT Blipensy g LB SSHMS!. 2CSH
GBISH 6V @ &L L LS5 6T BILoeder HeTinmeral 18.6 LS 6Teofleb &1L L &S 60T 2_WITLD 6T60Teor ?

Al g3m

A2

A3

92 1§

_A4 90 m

90 L

118 118 .
. 3 .
Subtracted value of ]T‘ from i
/£

—% @eSlmbal % -m6 &l6s Sl g wEllLy :

Az
9

77
21

A2 15

A3 77

1%

21

39

A4
B

42
?1
119 119 The number of digits in square of 535971 is :

535971 6T60TN 6T6TOT6u0N 60T 617858 & 5 SVIEITAIT 6Tt 6rfl 60T 6T6voT6u0r 1856 & -

Al 9or10

9orl0
AZ gorg
8or9

1lor12

A3
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121

122

120

121

122

11 or12
A3 or 14
13 or 14
) "I
52x H ;
[E] =[9I2, then find the value of x 2
q p
(p Vg q ‘\%
[ ] = [—J srevflsv x —6bT EILILITETTE)
Lgq/ Lp)
Al 1
Y
E
4
A2 4
oom
@
1
A3 11
S
ﬁ
4
A4 4
on
-4

The PV diagram for a thermodynamical system is given in the following figure.
The total workdone in the cyclic process is :

[PP]

a

Al - &
2t --- B

I é V(m3|

Gleuiu Guissailwsy sysmwlileT PV suenguLd ULSSl60 &Il LUl (HlsTersl.
@5 smml Hlaneflhars Glorss Gasney :

Al

AZ oy
27
A3 g4y
43
Aty
4

For total internal reflection :
(A) Light must travel from rarer medium to denser medium.
(B) Angle of incidence must be greater than critical angle.

GET IT ON

Google Play
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WW 2186 aTHameflliy Blaspeiey
(A) @eflwnerg 9iLjo GenD 2a1l_&556 QBHS AL Fe i@ 2oL 556 DS euyGeaeaHID.
(B) LI C&MetoT &S 60T LOFLILITEOTSI LOMMIBle6evd: CaMettrdhenG el F&HL0ME @)(H8:8 GeletoT()LD.

'AI (A) correct, (B) wrong

(1) &1, (B) soumi

fAz (A) wrong, (B) correct

(1) sau), (B) &1l

.AB (A), (B) both are correct

(A), (B) @uesrGId &ifl

54 (A), (B) both are wrong

(A), (B) @uerGLd Seum
1231123 The gas bubbles rise up in soda water due to :
GarLm Bl smho GG 6T CLoeVCHTEHS 6([H6US 60T &ITI60orLD :
fM The density of gas bubbles is less than the soda water
s1ho GUlfler SILis5E G Bifler oLisSamw efilL Gemmey
:A2 The density of gas bubbles is greater than the soda water
& GUIE 6 oILFsH CarLm Bifler oLisHamw el H &0
‘_A3 The density of gas bubbles is greater than the air
S1HD GG SILFSS HTHIler SiLjsHenw el SiFisLD
:A4 The density of gas bubbles is lesser than the air
&MHo GUIEET 2LFSH STl LisHamw el Gmmey

124 124 A Bus travels 10 km due cast and makes a u-turn to travel another 7 km due west. If the time taken for the whole journey is 2 hr. Calculate the

average velocity of the car.

2@h CUBHS TS RPsEGS Henauiley 10 H).1S sryb Liwemrd Q&SR mgl. Lerery, U-S @G &C5
LUmenguiley 7 &.LS ST LiWesoTd QF USRI MG). @) LILIW60TSH 66T Blenmey Q&F Ui 315 2 Loeoot] GBI eT(H &SI
Q&TTHMG) eTevllev 2F 60T I B e & Ges & H) 60 6Td: &Tewrss :

AL 3
3 &).165/ evof]

A2 35 kmihr

2.5 &)1/ nevorl

A3 3 5 knvhr
3.5 .18/ Loevof]
A% 1S ke
1.5 &).15/ oevor]

125|125 An iron ball requires 6000 J heat energy to raise its temperature by 30°C. Calculate the heat capacity of the iron ball.

(6 @B G6eT(H &G SIS W GQeuliLBleneuenl 30°C 2 WTSHH & Q& MeTeT 6000 J QeuLliLl LMHMev
Q&MH&HILGRMS. 4bHS G BLOL] G6eooT( QauliLl ¢MLISH MET eTelalaTe] ?

Al g0kt
40 JK!
A2 400 Ik
400 JK!
A3 0 k!
20 JK'!
A4 0
. 200JK
200 JK'!

126 126
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The speed of light in a medium is 2 x 108 m/s. Find the refractive index of the medium with respect to air. Speed of light in air is 3 x 108 m/s.
@ 2615556 elflufler HeangGaussih 2 x 108 uS/e). &THenm QUTHES SibHS 267185 G) 6 eerfleflevd ey
6T600T60)600TE> &ITE0OTS :

sy eefuler HenaGeussin 3 x 108 L/6

Al o

2.0

127 127 Which one of the following radioisotopes is used in the airlines to detect the explosives in the luggage ?
LN eTeupLIsTelMHMI6T 6Th S & flishe BCFMCLTLIL aimamiH&afle ei(h&a1F QFaelILI(ILD &eanlngerfley
QUG QUITBETSHET 2_6TETEOTEU T 6T60TLIGS 66T &5600TL MW LIWeTUG&E mSI 2

fM Americium 241 (Am241)
SIFAWLD - 241 (Am24))
fz Uranium 235 (U2%)

W GreflwiLh 235 (U3)
53 Thorium 232 (Th232)
Ggmiflulih 232 (Th32)
.A4 Californium 252 (Cf2%2)

sedGumFesflwih — 252 (C252)

128 128 An element belongs to second group of the Periodic Table and its compound is used in the manufacture of cement. The element is :
seofn euflensd 9L Laueneooruley 2 eugl QFT&GH Ulev S HelnID 2 6TemSI. {5607 GFTLND FNGQLD6ToTL.
swrfliifley LweaTLUGRMS!. 2GSl :

.Al Mg
Mg

Az Ca

Ca
A3

A4

129 129
Match the following :

Name Formula
[a) Chlorate ion (i) Clos
[b) Perchlorate ion (ii) clio™
[c)  Chloriteion (iii) clog

d) Hypo chlorite ion  {iv) ClOy
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CuUMmESIS :
Cluwir sumum(i)
{a) (GGl =ywssf] i) Cloy
(b)  GuiEGsmmGrL =uwssfl (if) clo™
(e) (55Cemmen T 2jwiest] {iii) cloy
(d) smamuGumEGsTrenTL 2fwisstl {iv) Clog

A @), G, (-6, (@i
@-(iv), (-G, (0140, (d)-ii)
A2 (@i, (-6, ()i, (@)-(iv)
(@), (b)), (01, (@)iv)
A @) O, (@i, (@-iv)
(@G0, (b)), (i), (@)(iv)
A% (@), (b)), (o)) (@)-6)
(@i, ()-(iv), ()i, (-6
130 130 Number of sigma bonds present in CO, molecule is

CO, eLPEVEFa M6V 2 6Tem F1 &L LNemeuorLiL|& & 6rfledT eTevoretof]d:6m 8 .

Al

2
A2 3

3

A3 1
1
My
4
131 131 Which one is heterogeneous mixture ?
6181 LIULILY &G 60T &H6060)6U &G FMeoTml ?
AL N, +3H, — 2NH;
N, + 3H, — 2NH;
A2 INO +0, — 2NO,
2NO + 0, — 2NO,
A3 CaCO5 — Ca0 +CO,
CaCO; — CaO + CO,

A4
. Fe¥™+ SCN™ — [Fe(SCN)**
Fe3* + SCN” — [Fe(SCN)]2*

132 132 A compound on analysis gave the following percentage composition C=54.55%, H=9.09%, O=36.36%. Determine the empirical formula of the
compound.

(H GFFLOLD LGLILMIeT6 LNeTeuBd #5655 @emWenLid Q& mesr () 6Tengl. C = 54.55%, H = 9.09%, O = 36.36%
FCFFTLOSDH 60T eTerll NGBS eumUILITL 19 65)60T85 85600TL_ ()& :

Al CH50
C,H50
A2 C,H0
CHO
A3 C3Hs0
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C3H50
A4 CiH0
C3H,0
133133 Assign the valency for Phosphorus Chlorine, Silicon, Argon and Beryllium :
uimeroLIe, @&Gemmifledt, &16918 60T, 94,78 MedT M MID QLTI WD @)6m6uss 66T @) 6meuord H)meoTa: smer
afleneliLBh&S1 :
'AI 1,2,3,4,0
1,2,3,4,0
AT 41203
4,1,2,0,3
63 4,3,1,0,2
4,3,1,0,2
‘_A4 3,1,4,0,2
3,1,4,0,2
134 1134 When iron is dipped in concentrated HNO5 it becomes chemically inert due to ?
QLML L J HNO; -6V Feneré&LneLTE Cauf b s H6oTemn QLTSI g 6orenfley :
'AI Formation of layer of FeCl; on its surface
LoUTUL6) FeCly LIL6ULD 2 (H6UT& 6V M6y
'AZ Formation of layer of FeSO4 on its surface
LoUTLULI6 FeSO4 LIL VLD 2 (HEUTSHEVIT6D
fA?’ Formation of layer of Fe;04 on its surface

LoUTULI6) Fe304 LIL6ULD 2 (HEUTSHEVITED
54 Formation of layer of FeCl, on its surface
LmuUFLILSey FeCl, LIL6ULD 2 (H6U TS 60TV

135 135 Which one is an incorrect statement for graphite ?

FrrenLlenL QUTBHSS! FfluleLeVTE Fndmi 615 ?

?M Three covalent bond

eLNEtTMI &8 L9 60)600TLIL| 8 606 G\ &5 T600T L&l
.AZ Hard and Transparent

H1QEOTLOMEOTS! LOMMILD 6@ SeTemLD G & MTetoTL i
53 It contains hexagon units

MBS TETIT 6V&SGH6T Q& TevoTLS
54 Conduct heat and electricity

QaulILLD MHMID INBTFTISHNS &GS He6TemLn 18 TeorL_ &I

Pollination occurs without opening and exposing their sex organs such flowers are called

LGV GET &THHEF CFIHNEHHETH HMEHHTONID 36060F @) 6T LIHES 2 MILIL|&H 60 6T
Qaueflga L LITnguld ewnlq i Bleneuiley neuiflel ID&THESEF CFI&HEN S HeMLGLIMID (LHemm .
_Al Homogamy
CammGrTesLA
fAz Geitonogamy

CamUIL I GeTmCa LA
53 Xenogamy

FRerm a1
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138

139

140

e

137

138

139

140

A4 Cleistogamy

Rerflev_CLMCHLA

Which among the following is not the function of growth inhibitors ?
G0 QsMH&&LILL (H6TaTeumnile) 615! aeTidFd oL &G ulledr LIeuorL| Sl6v6v ?

_Al Induces male flower formation on Female Plant of cannabis

Seoreor L6 QILIETIT STeUTSHH60 24,6007 LOVTHEN TS CHTHMIeN&EH M
.AZ Inhibit shoot growth and promote growth of root system

HT(H SO S TG LILNGT aleTIFFR WS GmmS S CaufsHarfler cuamfsH e 215 & KleaHarms
;A?’ Growth inhibitor does not prevent flowering in Pineapple and Mango

QIETIIL&&G&ET LOIT, 6MLIGT 2,16 Fmeumhigerfley D6V TEHemev &6emL Q& 6D 6vemn6v
54 Growth inhibitor supresses growth of lateral bud

QIETHaIL &R &HET LGS DML Q60T aleTJFFen Sl QF LR M.

Which one of the following matches is comect 2

{a) | Basifixed (i) | Nelumbo
(b) | Dorsi fixed (i) | Datura
[c] | Versatile (iii) | Hibiscus
(d) | Adnate (iv] | Grass

&G Garhssiiul hsTereummlsy siflumss @emssT sta) ?

(a) | @1giilensmriiy (i | BlevmGum
(b] | waigievewray | (i) [LmiEom

(c) | CleurgsmLsu (i) | smeuniSleruaseiu
(d] | wendlenemiy (iv] | gev

AL @) (i), () - i), © - (). (@) - ()

(a) - (ii), (b) - (iii), (c) - (iv), (d) - (i)
A2 . . ..
. (@- (i), (0) - (iv), (©) - (i), (d) - (i)

(@) - (iii), (b) - (iv), (¢) - (D), (d) - (ii)
A @)~ ), () - ), © - i), (@ - G

(@) - (iv), (b) - (D), (¢) - (i1), (d) - (i)
A4 . .. |
. (@- (@), (0) - (i), () - (i), (d) - (iv)

(@) - (i), (b) - (i), (c) - (i), (d) - (iv)
Assertion : Increase of bio-predators will decrease the multiplication of pests .
Reason : Chrysopa spp. and menochilus spp. are highly used to destroy insects.
Famm : 2 uNifl-Q1& medT M 600T6001 | & 6T GILI([H (& 61 S 60TV LLE T G 6rfledr eTetonenof|g6mas QLIS 2 SHe R MmS.
STIeorD : B FCFTUT FMfleorid LMHMID QCETTH V6V SH Wenelenw LIWeTLMR S L, &FF & emer
20 & &ML,
Al Lo .
. Assertion is correct & Reason is wrong
Fammi &, HTyesTid Seumi
..AZ Assertion & Reason are correct
FnMHMILD, STFevoTND FflGWw
_A3 Assertion is wrong & Reason is correct
Fa MM SeUm, STyesorid &ifl
54 Both Assertion & Reasons are wrong

Fa MM LOMHMILD &ITF60oTLD @) Fevor(HILD &6uml.

Original entire plant remains can preserved tree sap is called :

giigefley S WD LR 6Tme (WSS TaUTLD Gwenmuie UsLILGSSLULGRMS :

A ! Petrification

GET IT ON

Google Play
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FH6V6VITEH 6D
;AZ Mold and Cast
| F& LDMHMILD UL
53 Preservation (amber)
USLILESSH6 (QLDLIT)
4 Compression
S|SB & 6Teur 185 61T
141 141 Statement I : Pollination by snails and slugs is called Malacophily.
Statement II : Water snails crawling among lemna Pollinate them.
Gl : |60, HSHNSEHET eLNEVLD HeOL QUMD L&HTHS CFTHNS hHNS D&HTHS CFIHMS.
Gl 1 : BIHSHeNS QeVLDETT &TeU TS G 6T GLo6L 2eTI S QFaID CUIMSI D&THS CFI&HE S [HemLGLIMID.
'AI Statement I true statement II wrong
Fanml 1 &ifl T I Heum
52 Statement I true statement 11 true
S mi 1 &1 gamo 11 &l
_A3 Statement | wrong Statement 11 true
FHol 1 Sy & Hol 11 &ifl
Ad

Statement I wrong Statement II wrong

G DI 1 HEUDY T DD 11 S6UDI
142 142 In Tea gardens the tea plant remains bussy after trimming is due to :

CaWilemev CaML_LMige6rfley Hieofl S1600T19.858 LG WMEUTS STeUTSH S 6T L FHE HemLILINMDE &TI6uoriD :

AL Apical bud

mleofl QML G

2 Lateral bud

UHSQLTLH

53 Root bud

Gouly QLIL®
A4 pSE e
@emev QML

143 143 Vinoth watches the news that thousands of chickens had died and buried under the soil. He concluded the disease for the incident is

2 UNT5 560018 & Meor CHMN&ET @ MBS s &LCH Tl L06sTemI &89 Ull6) LensLiLeng e Germgs
QFWHUNGL LIMTSHSMITET. 215607 eLpeuld SibBlGeNHE& GBI &TIEUOTLOMS G)(H&ELD 6T60TMI (LOLY.6Y
QFWIHBMTedT.

'AI Swine flu
GLEMEUEIT &LIETH
;AZ Chikungunya
&\ & @& 6e0T@ ol wim
_A3 Avian influenza
N UWI6T @) 60T L| 6 LI 60T IT
54 Dengue
QLM
144 144 Identify the correct sequence :

Frflwmer auflengenl sevorL s :

AI Leptotene — Pachytene — Diakinesis — Zygotene — Diplotene

QULIGLITL LG 63T — LIMTEHHRICET — 60 L LITeN &6 F eV— 60F &GS L6 — 1. LIGETTL L@ 6dT
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A2 Leptotene — Zygotene — Diplotene — Diakinesis — Pachytene

QEULIBLITLICET — en&F&HBSHTLICET — 19 LIGETTL 6T — 60)L_UIMT6m & 60T &6y — LIME:S) 1@ 6T

53 Leptotene — Zygotene — Pachytene — Diplotene — Diakinesis

QeIGLITLIe6T — &G ITLIC6T — LITEGEIC6T — 19 LIGETTLLCET — 60)LLLIM65 & 60T & 61V
A4 . ——
. Zygotene — Leptotene — Diplotene — Pachytene — Diakinesis

MFHCHTLICET — QeVLICLITLICET — 19 LIGETTL 16T — LITEEHIC60T — 60)L_LLITE0) 85 60T 61V

145 145 Assertion (A) : The adipose tissue, which contains abundant mitochondria is called Brown adipose tissue.
Reason (R) : It controls shivering and produces thermogenesis in neonates.

Fn MM (A) : 6T6UOTEOTMHM MLOL GL TS 60T L[l ULITE: & 6m6Tss Q& TeoTL )19 LIGLIMeN & e meoTdl LILQLIL]
219 LIGLITEN B\ & eTTmenLp&HSLILGSE S
&ITJEO0TLD (R) : GLpHenS &6 6r 2 Ledle BH&HEMS gHLIMSSTINE QalllLih 2 HLSH Q&Fwieslev
FOUOSHMHS.
fM (A) and (R) are true, (R) is the correct explanation of (A)
(A) DHMILD (R) 2_600T60ILD, (R) 6T6dTLIGI (A) Ul6tT &Fiflwiment elemd LD,
éz (A) and (R) are true, (R) is not the correct explanation of (A)
(A) IDHMILD (R) 2_600T60IL0, (R) 6TdTLIGI (A) UlledT Fifliment ellemg: &L @)6Vem6v.
A3 (A s true, (R) is false
(A) 2_6voT6mLO, (R) QUM
64 Both (A) and (R) are false
(A) LDMHMILD (R) @ Tevor(H)GLD QILIMTLLL.

146 146 Cyton in the Neuron is also called as :
Blw,rmeofl6L @ _6lTerm em& L L medT GTEOTMI B ELN& S LILIBID.

! Perikaryon

Quil@sifluimesr
52 Axon
21,8 & 60T
53 Axolemma
21,8586 MGeVLDLOT
64 Schwann cells
66U 6T Gl &6V
147 1147 Find the correct sequence of the electrical conduction of heart beat :

GLp&etoTL eUM&SH WkIsefledBha @) & W eSS 6T Ll6Tameur_6v LIl Bleneusener alflen&liL(hS S :

_AI SA Node — AV Node — Bundle of His — Purkinje fibers

SA &g — AV &l — anleveileir HhHenm — LIT&HeTedl @) emipgseir
.AZ AV Node — SA Node — Purkinje fibers — Bundle of His
AV &8I — SA &1 — LITHeredl @ emipsser — anleverdler &menm
3 Purkinje fibers — Bundle of His — AV Node — SA Node
LTHered]l @ enLnssem — anlavenileir &menm — AVEHEmI — SA &l
A% Bundle of His — AV Node — Purkinje fibers — SA Node
anlavenieit &menm — AV &8l — LITHeTedl @) 6mLp&s6T — SA &m0l

148 148 The ovary remains attached to the pelvic wall and the uterus by
TIlD e & BTflermey @HILILFSaTL LGS DMHMID & [HLI60 LWL 60T 2J600TL&LD
@ ememurs & LILIL (H6TeS.
! Mesorchium

ISEMI&&H WD
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149

150

e

149

150

A2 Mesovarium

SCFmGaurflwiid
3 Tunica albuginea
19 WL60f1 &I 2j6vL|eSenflim
64 Fimbriae
Hlevor B G &H6T
How many microtubes are present in a centrole ?

2(H QFTLFIGUIMEVEN 675560607 6MLN& G TIQ WL IS 6T 2_6T6meor ?

Al 3
37
A2 49
47
A
27
Ad 5
57

Regulation of kidney was controlled by :
FoBrs QFweUTleL &LOUOSS 2 Fald amTFGLOTeT :
1 .
Vasopressin
eumGerumLIl r&) ot
'AZ Angiotensin |

2 EHFCWIT QlLedT& 60T T

A3 Vasopressin and Angiotensin II

UMGenMLI T 6T LMMID SLEERCWIT QL 6THeoT 1T
4 Vasopressin and Angiotensin I

MCemLIT&H 6T LM MILD 9,6hF GUITG L 6T & 6dT I

GET IT ON

Google Play
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